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DERIVADAS
1.y = 5x>3x°+3x>-2 2.y = X +2x%+x-4
3. y:3x1°+2«/§+§ 4. y=J3 .- p.x+ 3
X
5.y = 4 senx - 3 cosx 6. y=2«/§+g+x5
X
7.y=83+2¢ -+ 4 8. y:%.cosx-S\/Y
9.y = cos(3x) 10. y = cos*(X’)
11. y = sen (3x°-2x) 12.y = cosSxZ)
13. y = sen*(2x%) 14. y = cos"(3x")
15. y = 3 sen’(2x-3) 16. y = c0s’(3%)
17. y = cos (senx) 18. y = cos’(sen(3x))
19. y=3/cos X 20. y=3/cos’(¥¢)
21. y=+/x-3x 22. y=3[(x*-3x )’
23. y=(2Vx - 3 | 24. y=3[sen?x
25. y=3/sen(3x) 26. y=/3x-senx
27. y:(gXZ_ 1- 2 T 28. yzsen(w/3x2-5x)
29. y=Jsen’x + (x-1) 30. y=cos’( -3V )
31, y=2 32, y=2
5 X
- 3X x> -3
33. y== 34. y=
y ) y ”
(x*-3x)* (x-1)°
35, y=—"~——*~ 36, y= 7/
Y 3 Y 3 X
37. y= X 38. y= @
x>-1 X
3 X
39. y=./— 40, y= ——
Y X A3 X
41. y=3/3x?- senx 42. y=1n(3x-1)
43. y=1n (x*-3x) 44. y=1nx-2
45. y=log, (3x?) 46. y=¢*
47. y=2" 48. y= g%
49. y= 3= 50. y=tg(x’)
5l. y= 3 ex2—3x 52. y= [ecosx
53. y=3tg’ X 54. y=(x-1).(x-1)
55. y=x . Inx 56. y= ¢ . COSX

57. y=x' . &¥ 58. y= ¥ | senx
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59. y=Iny . g

61.

63.

65.

67.

y=Ing¢

69. vy

71.
73.

75.

77.

79.
81.

_3

@enXx o

e € g
X -2+ 3x-2

2x-1

y=arctg(x*)
y=In(secx)
y=arcsenx . g

y=1n(arctg(5x))
y= "5 arctg’ (senx)
_ arcsen(3x-2)

83. vy

85.
87.

89.

91.

93.

95.

X

y - Xsenx

y=(cosx )™

.3
&ex+t2 0

y=|ng >

e X (%]

& senx-* 0

y= 10§ 3x-COX 5

y

y

97. y

.

99.

(

COSX

X
nx)>

_3/ sen’(€")

- arctg(cosx)

_qJcoge).X

arctge* . cosx

I'n(x*-x)

60.

62.

64.

66.

68.

70.

72.
74.

76.

78.

80.
82.

84. y=

86.
88.

92.

94.

96.

98.

100. vy

>
<o
Q HO;,

y=( sen(e”) | . cosx
y=arcsen x*
y=arctg(l nx)

y= arctg(e*)

y= arctg+/x’
y= 3arctg( x2)

_senx - tgx
AAx-3
y=(sen x )X2
y: 4arctg(ln><)

| n(cosx)

SCOSX

y:

y= (tg(eX )+ X )X

_ I'n4cosx

sen ( ecosx)
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SOLUCIONES

. y&=30x° - 15x* + 9
. ye=30° + 1 3

Ix ¥

. y¢=4cosx + 3senx

7. yt=15x?
y@= - 3sen(3x)
y@=cos(3x?-2X) . (6x-2)

9.
11.
13.

15.

17. y¢=-sen(senx) . cosx

-2C0SX . senx
3 %/cos” x
2x-3
2 x2-3X
&
Y¢=3(2«/—-3x)2.g
e
3 cos3x
5 3/sen’ (3X)

19. y¢=

21. yt=

23.

25. yt=
27.

29. ye=

1

7x

yd:3(3xz_m)2.§e6x-

3sen?x cosx + 3(x-1)

2 JJeen®x + (x-1)

y¢:'3COSZ( X2-3«/;) : Sen( x2-3«/§).

1
31. y¢=—
Y 5

442-3

33. yt=

2(x*-3x) . (4x3-3)
3

35. yt=

2X (x*-1) - x*.2x

37. y=
e (x¥-1)

Todas las soluciones se dan sin simplificar

y&=3 sen?(2x?) . cos(2x?) . 4x
yt=6 sen(2x -3) . cog(2x-3) . 2

32 24 ye=

Q

N

o

6.

8.

10
12
14
1

(op)

20.

22

26

21-¢ %

30.

s

e

32

34

36. Y

38

yl=-4x°-6x*+1

ye=343 . ¢ -p
1 2

= —— - —+ 5y

TR e
_ P 3
__w]x_

yt= > > /x

. yt=-2co9 x%) . sen(x®) . 3x?

. yt=-sen(x?) . 2x

. Y 400s°3x) - (-senBx)) . 1258
. y¢=5c0s*(3x%) . (-sen(3x?)) . 6x
18. y¢=2cos(sen3x) . (-sen(sen3x)) . cos3x . 3

-2c0yx*) . sen(x?) . 2x

=
’ 3 3/cos* ()

yes 2 (x*-3x) (2x-3)
3 3(x2-3x)"
2 senx cosx
3 3/sen’x
3 - cosx

2 +/3x- senx
%28. yi= cos( N3 X% -5X ) .

. yt=

.3 9

2% o

=5
' X

) y¢:2x+i
X2

- 3(x-1).3x - 3(x-1)°
(3x)°

3
e 2403

. X - 43X

X2

6x-5

2 \[3x%-5x
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A3X - X
3. yee L 73 40. yt= 2:/3
2\/5 X 3X
X
41. yt= 6 X - oo 42. yq::i
33/(3x%- senx f 3x-1
1
43, yo= 223 44, yo= 23YX-2
X - 3X X-2
45. y&% 46. yo=g° . 2x
X .1n
47. yo= o5 1 n2 48. yt= “% . (2x-2)
49. yt=3*"*  cosx .In3 50. y¢= 3)(23
cos’ (x*)
- COSX %X
. ye=3 ¥ | (2x- L= ——"
51. ye=3 ¥ . (2x-3) 52. ye=_€
2 eCOSX
_ 6 tgx _ 2
53. yt= o X 54. y=2x (x-1) + (x*-1)
2
55. ye=2x .lnx + X? 56. yi= e’ 2X cosX - ¢ Senx
57. ye=4x® . "+ x* % .3 58. yb= ¥ . (4x°-6X) sen x + ¢ cosx
1
2/
2X X
59. y&=— . & + | nx? *"* cosX 60. y¢&= —Z
= X I Xy

61 y¢:333X2'392 2x(x*+1) - (X' -3) 2x
. § o1 oLy

62. yt= 1 L@ =™ 4+ [ nx . @™ (2X- COosX)
X

63. y¢:(20053x (-sen3x) 3 - 3sen?X CosX ) .e¢ + (cof3x - senX) e 3%

2X
v (x-2) - I né 3%

6a. ye=2 EINX O :
E X-2 g (x-2)
16

13X-Inx 3*In3 Eé‘aeex+—9(x2-senx)-(ex+lnx) (2x - cosx)

65. yo= X 66. yt=
(3) (x2-senx )’

67. yi= e COSX g Xg sen X 68. yi= 1  COX (x-l)z- senx

Senx (e") , [sEnx (x-1)

x-1
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69.
(2 x-1)
70. yt=2 ( sen (&%) ) . cos(e”) . e 3 cosx - (sen(e3x))2 . Senx
71. yt= 2X 72. yi= 3x°
. 1+ )(4 ) 1 - XG
Senx 1
73. yo= COSX 74, yes X
Sec X 1+ (Inx)
COSX 3X
75. yi= = - arcsenx e sen x 76. v&=_€ -2
y 1_ X2 e y l+ (egx )2
3 2 - (x+1
32 € tgx & 6x € (X Je
77. y¢:e— . COSZX 78 y¢: (e )
tox (esxz)2 \/ aex+1 o
2
3x°
79. yt= ! > : 80. y¢= 2‘/?
arctg(5x) 1+ (5x) 1+ 3
81. y¢=10 arctg(senx) & 82. yt= 32et9(:) _2x
+ sen’X 1+ x*
3 X - arcsen (3x-2) 2x

83.

(12x3-4x+3) (2x-1) - Bx*-2X+3x-2) . 2
¢_

ye= J1-(3x-2Y

88009(- 1 0J4b<— (Senx-tgx)—4

2

X4

84. yt=& cos Xg yoe 4x-3

85. yﬂ:g cosx . I nx + se;lx ; S

86. y¢:g 2x 1 n (senx) + XS0 °( x)*
3- I

87. y= g(?;xz-l) I ncosx - w 2 (cosx )
COSX g

1
88. yt=gxoaliny X ___ |p4
=4 1+ (I nx )
_ 1 2 X+2 o X*- 2X (X+ 2)
89. y¢_—3 3 Q 2 ' 4
X+2 ¢ X g X

n3
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2

D 2 senx 3eg¥senx - e*cosx 0 & *
x X . ;
SeNX g e” sen’X 5 & senx

90. yqzzgezxmx%e eaxx 9

X
0
2}

2 senx-¢* 0

o1, y= 1(f=22? | g (O €) (3X-C08Y) - (sex-¢) (3+ senx)

(3x - cosx )

1 1

sen(lnx) 5 sen’(I nx)

. sen(l nx)- tgv/x . cos(l nx).%

COSX 1
~sex I nnx + X Qs P - = 3 (nx) =
X g X

m-ogd

93. yt=
y (Inx)°

94.

atgx 0 X 2
yi=2 cos(de’) . (sn(der) . 4 & InEx Oy cogt(der) S COSX
€3 g tox (39)2

| n(cosx) ~ Senx
e —

1 ) 5cosx _ eIn((:osx) ) 5cosx (-SenX) I n5
95. y= COX

2 \/eln(cosx) ’ (5cosx )2

5COSX

96.

2sen(e’) . cog(e’) . e . arctg(cosx) - sen’(e*) . 1

1 + cos’X

3,| s(e) arctg’(cosy)
arctg(cos x)

~sen(e*) & x + cos( ) e - Jeos(e) X .
JJoos( ) . x

yt=

tgx 1

1
.e” .
2 .Je¥ cos’ X

97. yt=

&
& St
98. ye=€ In(tge+ ) + x L)+ (1g(g) 4 0 )
; g+
e

2

99.
2 X 0 -
g e—z cosx - arctge® senx = n(x*-x) - (arctge cosx) 2)2( 1
1 1+ (&) o X - X

yt=

arctge’ . COSX I n? (x?- X)
I n(x*-x)



€j er ciciosyexamenes.com

1 - Senx

sen( ™) - 1 ny/cosx cog ) e (-senx)
100. y¢: \/COSX 2 \/COSX

%nz( eCOSX)



